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PART A: Grammar & Vocabulary
Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence. Then mark the correct choice on your answer
sheet.

61- If they want to leave now, they’ll risk ... stuck in the snow.
1) to get 2) gettting 3) gets 4) of getting
62- After having a long talk with him, I decided ... my best and try ... too many silly mistakes.
1) to do - not to make 2) doing - not making
3) not to do - don’t make 4) to do - to not make
63- Zoos are suitable and valuable places for researchers to carry out some ... on particular animals
in a safe and controlled environment.
1) expectations 2) experiments 3) explanations 4) experiences
64- You should be ... of the way you keep your room. It is always in a terrible condition.
1) afraid 2) ashamed 3) tired 4) proud
65- Some researchers have ... the main reason of fatness that causes about 300,000 deaths in the U.S.
annually.
1) established 2) manufactured 3) prevented 4) defined
66- Fortunately, all of the injured people were treated at the ... of the accident for cuts and bruises.
1) event 2) scene 3) plate 4) sense
67- The game was a great success for our team, and | would like to thank everyone who ... in this
competition.

1) took apart 2) took off 3) took place 4) took part
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PART B: Cloze Test
Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each space. Then mark the correct choice on
your answer sheet.

Different regions have different rates of population growth, but in the 20th century, the world
saw the biggest ...(68)... in its population in human history due to medical advances and huge
development in ...(69)... agricultural productivity made by the Green Revolution. ...(70)..., in some
countries there is a negative population growth, especially in the Central and Eastern Europe,
...(71)... because of low fertility rate and Southern Africa due to the high number of HIV- related
deaths. Within the next decades, Japan and some countries in Western Europe are also expected

...(72)... a negative population growth.

68-1) success 2) increase 3) period 4) pressure
69-1) international 2) chemical 3) individual 4) social

70-1) Whereas 2) As 3) Whether 4) However
71-1) properly 2) rapidly 3) mainly 4) actually
72-1) encounter 2) to encounter 3) encountered 4) encountering

PART C: Reading Comprehension
Directions: Read the following passages and answer the questions by choosing the best choice (1), (2), (3), or (4). Then mark the correct
choice on your answer sheet.

Passage 1

People aren’t the only creatures that know how to look for a healthy meal. Scientists have
discovered that insects and spiders go out of their way to eat balanced diets. A team of scientists
studied three different predators—a kind of beetle and two types of spiders. Predators are animals
that kill and eat other animals.

First, scientists fed the bugs unbalanced diets. The researchers gave some bugs foods high in fat
and fed others only foods high in protein. For the next meal, the scientists let the beetles and spiders
choose what they wanted to eat. All of them picked foods that contained the nutrients their previous
meal had lacked. The bugs that had been fed high-protein meals picked high-fat prey. The ones that
had gotten high-fat meals chose high-protein prey. It turns out that even creepy-crawlies, especially
those with eight legs, watch what they eat!

If it is easy for spiders to make good food decisions, why is it sometimes hard for people? People
have a hard time keeping a balanced diet because they have many food choices. They are attracted
to foods that taste good but are not healthy. Sometimes, people do not have time to prepare healthy
meals.

73- This passage is an example of ... .
1) a science experiment guide 2) an article
3) a biography 4) an interview
74- Spiders probably eat a balanced diet because they ... .
1) know what foods their bodies need 2) are not able to get enough exercise

3) do not want to become too big 4) have many food choices
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75- If a beetle lived in a place where it could find only one kind of bug to eat, it might ... .
1) stop eating and wait for another kind of bug to come by
2) eat just the one kind of bug
3) go hunting for another kind of bug to eat
4) eat high-protein meals
76- Beetles and spiders both ... .

1) enjoy bugs that are high in fat 2) eat a lot of plants
3) are predators 4) enjoy bugs with a lot of protein
Passage 2

The Earth’s oceans hold 97% of the planet’s water and cover about 70% of the planet’s surface.
There is an incredible amount of life in the oceans. There are thousands and possibly millions of
animal and plant species living in the Earth’s oceans.

The Earth has five oceans. They are the Pacific, Atlantic, Indian, Arctic, and Southern Oceans.
The Pacific Ocean is the largest, and the Arctic Ocean is the smallest. The five oceans are connected,
and together they make up one large “world ocean.”

The world ocean is important to the Earth. It distributes heat all over the Earth, and the world
ocean’s currents regulate the Earth’s climates. Without the world ocean, the hotter areas of the
Earth would be even hotter, and the colder areas would be even colder.

Changes in the Earth have affected the oceans. For example, some human activities release
greenhouse gases into the air. These gases trap heat in the Earth. As a result, the world ocean has
been getting warmer. This can cause the Earth’s climate to change.

Our actions on land also have affected life in the oceans. For example, when people litter or when
oil drips from cars onto streets, the litter and oil often end up in the oceans. This has caused harm to
many living things in the world ocean, and a lot of marine animals have died as a result.

We need to do our best to take good care of the oceans. The world ocean supports our lives, and
it supports the lives of many other living things. We should support the ocean, too.

77- The world ocean is made up of ... .
1) the Atlantic and Pacific Oceans 2) the Indian and Atlantic Oceans
3) all five of the oceans on the Earth 4) the largest ocean on the earth
78- What does the third paragraph describe?
1) The actions people can take to support the world ocean
2) The marine life that lives in the world ocean
3) The ways in which people are important to the world ocean
4) The ways in which the world ocean is important to the Earth
79- Which of the following conclusions is supported by the passage?
1) It is unclear how the ocean affects climate.
2) Many living beings, including humans, depend on oceans.
3) The world ocean is not being threatened by pollution.
4) Enough is being done to protect the world ocean.
80- The underlined word “affected” in the 4th paragraph is closest in meaning to ... .
1) caused a change in 2) disturbed
3) helped or supported 4) got rid of
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